g 122030 N\ 73 - A5 =1 = — L
o 111# 2554 B B3 % ¥ - T g

= &
1 42
6B
hE JER I
PO N e K VAT ’;F:_;.—F‘,L_ET % .
(= :&#/‘5\ iT% ’%—ﬁ&—; %ﬂ%\ - & 6 ,;;Fl@nlé‘):; 2 t—t..é‘% Fos oA ’é‘%ip IF€ Lo ;‘LA’\ ]
EOF M2 IHINRFLAY Fé%pl,&_go
@ifﬁfgﬁﬁ DA FIE AN it AR FEE o

- “Bl- T R - B BT 4 /:2‘ %o f_@ﬁ%%ﬁt} ﬁﬁ?diEZL:JOO?Z p.u.- ©
fo- gimngt (Busl) 2 f 45 S;=12+j5pu. > = Being (Bus2)
5 Spe=27+j13 pu.s Bindt TRV =|Vo =12 pu. o = Bl g
HEWE AT Pez=l5 pu oo BB E T S Qe -
B T2 F o F Per ¥ Qe (25 4 )

Gl G2

lSGlszl‘FjQGl J’ Sc2=Pe2+jQcz
° — Bus2 — -
V120 Busl j0.072 Voz-8

—{ 0

S12=P12+jQ12 S21=P21+jQ21

Sp1=12+}5 Sp2=27+j13

%] - - /7:1 «'}'—% ':\aﬁ 4 ,:L‘: =

e ‘B'#B#ﬁ\ﬁﬁ ML E 120km> X 2282 WL B 5 75 kV e & 25°C
o H R s 0.12 Q/km o L-'H'F"‘f F 60HZlfg » HE R ¥wi 0.45 Q/km »
AT RS 2.28x10° S/km o 14_t%]“"; 20000 kVA ~ # &
18 0.8 - é)g—g* A 'gﬁﬁéﬂﬁ:ﬂ] ?Eﬁ,?[‘?:mi TR Vs~ T in |s}‘7?§§3:
I45312"53"<25/’°\>

SN FIRZTA pEmd 114KV 60 Hz % 0 f 53 400 KVA - 3 5 Flik
5065150 FacH S 5 T 0.8 g%é’Pé,ﬁxéwﬁ*hwﬁ\kVAR
FPEELFE 2(254)



g 122030
Foki2-2

oG- R HRE2 TS 50 KVA ~ 250 /1250 V ~ 60 Hz - & i = 3
e PRERE 43 gﬁ\ﬂ <) 0.7 E s eniE i T 5 Hoagk i
09 F L HFRER ¥ AMF T % 5o (T 5 1500/1250 V 2_ "% & p 48 % & %
OBFXEEERE Ly :Fs%a%fi%xw%» kVAzp‘%;xgo(lzz,,\)
OO0 a 2R~ # F Flge s 070 @3 B A »es - (134)

+

P
P

250 V I

1500 V

1250v " 1250 V/

Bl= 1500/1250V f 4m % & =



